Tanz der Ritter

Sergey Prokofiew

Posaune 2







sVMpHONlc

Posaune 2
Tanz der Ritter "DSO
Sergey Prokofiew
77
76 | Allegro pesante J4=100 78
, S > > > 9
E"ﬁ 2 oy ! 1 N\ N\ = N ‘,7 1 —
:fpesani;e | | sf
97 79
= 1 — ———
= = G2b e e e e i
/ vV D '_‘ = | !
> > >
fpesante
80
2 r— 3 " 1 u.> > > )
%%ﬁd—j_‘ —— # = |—|—-1+FF¢|! ‘5 . .
J
82
o 81 Andante appenarit.............. poco rit
" 1 N 9 1 . 7 2 _
—J) = 'b",pb Z ——— = 'bV —— — hg' ;‘%_
84
o 83 | Tempo I (Allegro pesante)  Poco pit tranquillo | 85 86
- 12 - 8 12
) ) —————6———0
88
87 it Allegro pesante (Tempo I)
. 14 1 4 - -
%"—ﬂ—g—_ = 2 —— é{v o f . D,—D; f

>

Kl 1

=

89
128
, - > tacet al fine
. - q: _H'_' \' \' N L = N
) ——r— —— ¢ ¢ & e



